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”strong=”6370|�������������� x-morph=”OSHM:HNcfpa” ”strong=”c/802|��������/��
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”strong=”c/474|������������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HVqp3cp” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1732”
x-morph=”OSHM:HNp” ”strong=”l/4428|��������/�� x-morph=”OSHM:HR/Ncmsa”
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/5927|���������/��
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17n
18p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HR/Ncbsc/Sp2ms” x-cantillationLevel=”0”� 20 ”strong=”c/935|�������/��
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x-cantillationLevel=”1.1.0” ”strong=”m/5676|������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/5104|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0”
”strong=”2431|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/7731|���������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0.0”
”strong=”8269|���� x-morph=”OSHM:HNcmsc”�������|strong=”6635
a” x-morph=”OSHM:HNcbsc” ”strong=”1909|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”l/6440|����/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”0”� 17 ”strong=”c/5046|��������/�� x-morph=”OSHM:HC/VHw3ms”
”strong=”l/1732|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.1”
� ”strong=”c/622|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” strong=”c/5674|���������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/3383”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.1” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0” ”strong=”2431|�/��������
x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”1” strong=”c/6186|�����������/��
a” x-morph=”OSHM:HC/Vqw3mp” ”strong=”758|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”l/7125|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”1732|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”c/3898|������������/�� a” x-morph=”OSHM:HC/VNw3mp”
x-cantillationLevel=”0.0” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 18 ”strong=”c/5127|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”758|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”c/2026|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1.0” ”strong=”m/758|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.1” ”strong=”7651|������� x-morph=”OSHM:HAcfsa”
”strong=”3967|������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”1.1.0”
”strong=”7393|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”c/705|������������/�� x-morph=”OSHM:HC/Acbpa” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.0” strong=”6571|�����������
b” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” ”strong=”7731|��������� x-morph=”OSHM:HNp”
”strong=”8269|���� x-morph=”OSHM:HNcmsc”��/�������|strong=”6635
a” x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.0.0” ”strong=”5221|�������
x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0.0” ”strong=”c/4191|�������/��
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x-morph=”OSHM:HC/Vqw3ms” ”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”0”� 19 ”strong=”c/7200|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1.0” ”strong=”5650|��������
x-morph=”OSHM:HNcmpc” ”strong=”1909|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”5062|��������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.1.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”c/7999|������������/��
a” x-morph=”OSHM:HC/Vhw3mp” ”strong=”854|��� x-morph=”OSHM:HR”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/5647|�/������������/��
x-morph=”OSHM:HC/Vqw3mp/Sp3mp” x-cantillationLevel=”1” ”strong=”c/3372|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”758|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”l/3467|����������/�� x-morph=”OSHM:HR/Vhc”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
”strong=”5983|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�11 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”

”strong=”l/8666|����������/�� x-morph=”OSHM:HR/Ncfsc”
”strong=”d/8141|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-

cantillationLevel=”1.1.2.1” ”strong=”l/6256|����/�� x-morph=”OSHM:HR/Ncbsc”
x-cantillationLevel=”1.1.2.0” � ”strong=”3318|����� x-morph=”OSHM:HVqc”
”strong=”d/4428|������������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.2”
24 BHS has been faithful to the Leningrad Codex where there might be a ques-
tion of the validity of the form andwe keep the same form as BHS. ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1.1” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3097”
x-morph=”OSHM:HNp” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�/���������|strong=”5650”
x-morph=”OSHM:HNcmpc/Sp3ms” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1.1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”c/7843|�������������/�� x-morph=”OSHM:HC/Vhw3mp”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”5983|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”c/6696|���������/�� a” x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”7237”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/1732|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”3427|��������
x-morph=”OSHM:HVqrmsa” ”strong=”b/3389|������������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� � 2 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.2.0” � ”strong=”l/6256|����/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”d/6153|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.2”
strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|�������
241



CONTENTS 73

x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” ”strong=”4904|���/��������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1.1” ”strong=”c/1980|�������������/�� x-morph=”OSHM:HC/Vtw3ms”
x-cantillationLevel=”1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”1406”
x-morph=”OSHM:HNcmsc” strong=”1004|����� b” x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”802|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0.0” ”strong=”7364|�������� x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”1.0” strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
”strong=”d/1406|�����/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/d/802|��������/���/�� x-morph=”OSHM:HC/Td/Ncfsa” x-
cantillationLevel=”0.1” strong=”2896|������� a” x-morph=”OSHM:HAafsc”
”strong=”4758|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”3966|������ x-morph=”OSHM:HD” x-cantillationLevel=”0”� 3
”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/1875|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0” ”strong=”l/802|��������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1.1” ”strong=”i/3808|����/��
x-morph=”OSHM:HTi/Tn”������|strong=”2063” x-morph=”OSHM:HPdxfs”
x-cantillationLevel=”0.1.0” ”+strong=”1339|���� x-morph=”OSHM:HNp”��������|strong=”1339”
x-morph=”OSHM:HAcfsa” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”����������|strong=”463”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”802|�������
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.0” strong=”223|����������
a” x-morph=”OSHM:HNp” ”strong=”d/2850|�������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0”� 4 ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-morph=”OSHM:HNp” ”strong=”4397|�����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.1.0” ”strong=”c/3947|��/���������/��
x-morph=”OSHM:HC/Vqw3ms/Sp3fs” x-cantillationLevel=”1.1.1” ”strong=”c/935|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”413|��/����� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”c/7901|�����������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1”
25 We read one or more accents in L differently than BHS. Often this nota-
tion indicates a typographical error in BHS. ”strong=”c/1931|�����/�� x-
morph=”OSHM:HC/Pp3fs” ”strong=”6942|�������������� x-morph=”OSHM:HVtrfsa”
x-cantillationLevel=”1.0” ”strong=”m/2932|��/����������/�� x-morph=”OSHM:HR/Ncfsc/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.0” ”strong=”413|��� x-morph=”OSHM:HR”��/��������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0”� 5 ”strong=”c/2029|�������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.0” ”strong=”d/802|��������/���
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1.0” ”strong=”c/5046|��������/��
x-morph=”OSHM:HC/Vhw3fs” ”strong=”l/1732|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
25c
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x-cantillationLevel=”0.0” strong=”2030|������ a” x-morph=”OSHM:HAafsa”
”strong=”595|�������� x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0”�
6 ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3097”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”7971|�������
x-morph=”OSHM:HVqv2ms” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”223
a” x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”d/2850|�������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1” ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3097|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”223
a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”413|��� x-
morph=”OSHM:HR”��������|strong=”1732” x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 7 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”223|���������� a” x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
”strong=”c/7592|����������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1” ”strong=”l/7965|��������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”3097|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”c/l/7965|��������/��/�� x-morph=”OSHM:HC/R/Ncmsc”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”c/l/7965|��������/��/�� x-morph=”OSHM:HC/R/Ncmsc” x-
cantillationLevel=”0.0” ”strong=”d/4421|�����������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� 8 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”l/223|�����������/�� a” x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
26We read one or more accents in L differently than BHS. Often this notation in-
dicates a typographical error in BHS. ”strong=”3381|���� x-morph=”OSHM:HVqv2ms”
strong=”l/1004|���/�����/�� b” x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-
cantillationLevel=”1.0” ”strong=”c/7364|������/�� x-morph=”OSHM:HC/Vqv2ms”
”strong=”7272|��/�������� x-morph=”OSHM:HNcfdc/Sp2ms” x-cantillationLevel=”1”
”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vqw3ms” strong=”223|�����������
a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” strong=”m/1004|������/��
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vqw3fs”
strong=”310|�/�������� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”4864|��������� x-morph=”OSHM:HNcfsc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 9 ”strong=”c/7901|�����������/��
x-morph=”OSHM:HC/Vqw3ms” strong=”223|���������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”6607|������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.1.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”854|���� x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”���������|strong=”5650” x-morph=”OSHM:HNcmpc”
26c
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”strong=”113|�/�������� x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”3381|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”413|��� x-
morph=”OSHM:HR”��/�������|strong=”1004 b” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 10 ”strong=”c/5046|����������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”l/1732|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1”
”strong=”3808|���� x-morph=”OSHM:HTn”�������|strong=”3381” x-
morph=”OSHM:HVqp3ms” strong=”223|���������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��/�������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”223
a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” ”strong=”m/1870|���������/�� x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”0.1.0” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
”strong=”935|���� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.1”
”strong=”4069|��������� x-morph=”OSHM:HTi” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”�����������|strong=”3381”
x-morph=”OSHM:HVqp2ms” ”strong=”413|��� x-morph=”OSHM:HR”��/��������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0”� 11 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” strong=”223|���������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2” ”strong=”d/727|������/���
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1.1.1” ”strong=”c/3478|�����������/��
x-morph=”OSHM:HC/Np” ”strong=”c/3063|��������/��� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.1.0” ”strong=”3427|���������� x-morph=”OSHM:HVqrmpa”
”strong=”b/5521|���������/��� x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”1.1.1”
”strong=”c/113|�/������/�� x-morph=”OSHM:HC/Ncmsc/Sp1cs” ”strong=”3097|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0” ”strong=”c/5650|��������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440” x-
morph=”OSHM:HNcbpc” strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”2583|������� x-morph=”OSHM:HVqrmpa”
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a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”c/3212|��������/��
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x-cantillationLevel=”1.0.0” ”strong=”7463|������ x-morph=”OSHM:HNcmsc”
”strong=”1732|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
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a” x-morph=”OSHM:HTr” ”strong=”977|������� x-morph=”OSHM:HVqp3ms”
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x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.0” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”�������|strong=”376” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”3808|�� x-morph=”OSHM:HTn” x-wType=”x-ketiv” 52 ”strong=”1961|��������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.0” ”strong=”c/854|��/�����/��
x-morph=”OSHM:HC/R/Sp3ms” ”strong=”3427|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0”� 19 ”strong=”c/d/8145|���������/��/�� x-morph=”OSHM:HC/Td/Aofsa”
x-cantillationLevel=”1.1.1” ”strong=”l/4310|����/�� x-morph=”OSHM:HR/Ti”
x-cantillationLevel=”1.1.0” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”5647|��������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.1”
”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn” x-cantillationLevel=”1.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc” strong=”1121|��/����
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”5647|������������ x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.1.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”1|��/������ x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.1”
strong=”3651|����� c” x-morph=”OSHM:HTm” x-cantillationLevel=”0.0”
52+ ”strong=”l|��/���� x-morph=”OSHM:HR/Sp3ms”



130 CONTENTS

”strong=”1961|�������� x-morph=”OSHM:HVqi1cs” ”strong=”l/6440|��/������/��
x-morph=”OSHM:HR/Ncbpc/Sp2ms” x-cantillationLevel=”0”� � 20 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”53|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”������������|strong=”302”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”3051|������ x-
morph=”OSHM:HVqv2mp” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.0.0” ”strong=”6098|������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”4100|���� x-morph=”OSHM:HTi”�����������|strong=”6213
a” x-morph=”OSHM:HVqi1cp” x-cantillationLevel=”0”� 21 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”302|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”������������|strong=”53”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”935|������ x-
morph=”OSHM:HVqv2ms” x-cantillationLevel=”1.1.0” ”strong=”413|��� x-
morph=”OSHM:HR”�������������|strong=”6370” x-morph=”OSHM:HNcfpc”
”strong=”1|��/������ x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3240|���������
x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”1.0” ”strong=”l/8104|��������/��
x-morph=”OSHM:HR/Vqc” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/8085|�������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0” strong=”3588|����� a”
x-morph=”OSHM:HC”��������������|strong=”887” x-morph=”OSHM:HVNp2ms”
”strong=”854|��� x-morph=”OSHM:HR”��/�������|strong=”1” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0.2” ”strong=”c/2388|���������/�� x-morph=”OSHM:HC/Vqq3cp”
x-cantillationLevel=”0.1” ”strong=”3027|������ x-morph=”OSHM:HNcbdc”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” ”strong=”854|��/������ x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”� 22 ”strong=”c/5186|��������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”l/53|������������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0.0”
”strong=”d/168|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�����/���|strong=”d/1406”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”53|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������������|strong=”6370”
x-morph=”OSHM:HNcfpc” ”strong=”1|�/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” strong=”l/5869|�������/�� a” x-morph=”OSHM:HR/Ncbdc”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 23 ”strong=”c/6098|������/��
x-morph=”OSHM:HC/Ncfsc” ”strong=”302|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3289|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1.0”
”strong=”b/3117|��������/��� x-morph=”OSHM:HRd/Ncmpa” ”strong=”d/1992|����/��
x-morph=”OSHM:HTd/Pp3mp” x-cantillationLevel=”1.1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”7592|�������� x-morph=”OSHM:HVqi3ms”�



CONTENTS 131

53 ”strong=”b/1697|������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” strong=”3651|�����
c” x-morph=”OSHM:HTm” x-cantillationLevel=”0.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”6098” x-morph=”OSHM:HNcfsc”
”strong=”302|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”1571|���� x-morph=”OSHM:HTa”������/���|strong=”l/1732”
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0” ”strong=”1571|�����
x-morph=”OSHM:HTa” ”strong=”l/53|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� �17 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”

”strong=”302|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”������������|strong=”53”

x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”977|����������
x-morph=”OSHM:HVqh1cs” ”strong=”4994|����� x-morph=”OSHM:HTj”
x-cantillationLevel=”0.1.1” ”strong=”8147|������� x-morph=”OSHM:HAcmda”��������|strong=”6240”
x-morph=”OSHM:HAcmsa” ”strong=”505|������� x-morph=”OSHM:HAcbsa”
x-cantillationLevel=”0.1.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” strong=”c/6965|���������/�� b” x-morph=”OSHM:HC/Vqh1cs”
x-cantillationLevel=”0.0.0” ”strong=”c/7291|�����������/�� x-morph=”OSHM:HC/Vqh1cs”
strong=”310|������� a” x-morph=”OSHM:HR”�������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”d/3915|���������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 2 ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqi1cs” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.2.1” ”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms”
”strong=”3023|�������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.2.0”
”strong=”c/7504|������/�� x-morph=”OSHM:HC/Aamsc” ”strong=”3027|��������
x-morph=”OSHM:HNcbda” x-cantillationLevel=”1.2” ”strong=”c/2729|��������������/��
x-morph=”OSHM:HC/Vhq1cs” ”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/5127|����/�� x-morph=”OSHM:HC/Vqq3ms”
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63+ strong=”5921|����� b” x-morph=”OSHM:HR”������|strong=”3651 b” x-
morph=”OSHM:HTm”
64a
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135a Adaptations to a Qere which L and BHS, by their design, do not indicate.
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21 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”728|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”4069|���������
x-morph=”OSHM:HTi” x-cantillationLevel=”1.0.0” ”strong=”935|����� x-
morph=”OSHM:HVqp3ms” ”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”��/��������|strong=”5650” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1732|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1.0”
”strong=”l/7069|�������/�� x-morph=”OSHM:HR/Vqc” strong=”m/5973|���/�����/��
b” x-morph=”OSHM:HR/R/Sp2ms” ”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1637”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1.1” ”strong=”l/1129|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”4196|����������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”c/6113|��������/�� x-morph=”OSHM:HC/VNi3fs”
”strong=”d/4046|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R” strong=”d/5971|����/��
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 22 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”728|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”3947|�������
x-morph=”OSHM:HVqj3ms” ”strong=”c/5927|������/�� x-morph=”OSHM:HC/Vhj3ms”
x-cantillationLevel=”1.0.0” ”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
strong=”d/2896|������/�� a” x-morph=”OSHM:HTd/Aamsa” strong=”b/5869|�/���/�
157+ ”strong=”728|��������������� x-morph=”OSHM:HNp”
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a” x-morph=”OSHM:HR/Ncbdc/Sp3ms” x-wType=”x-ketiv” 158 ”strong=”7200|������
x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”0.1.0” ”strong=”d/1241|�������/��
x-morph=”OSHM:HTd/Ncbsa” strong=”l/5930|������/�� a” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”c/d/4173|�����������/��/�� x-morph=”OSHM:HC/Td/Ncmpa”
x-cantillationLevel=”0.0.0” ”strong=”c/3627|������/�� x-morph=”OSHM:HC/Ncmpc”
”strong=”d/1241|�������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0”
”strong=”l/6086|�������/�� x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0”�
23 ”strong=”d/3605|�����/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.1”
”strong=”5414|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0.0”
”strong=”728|���������� x-morph=”OSHM:HNp” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”l/4428|��������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1” � ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”728|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|��/�������� x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”7521|��/������� x-morph=”OSHM:HVqi3ms/Sp2ms”
x-cantillationLevel=”0”� 24 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”728” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.2” ”strong=”3808|���� x-
morph=”OSHM:HTn” x-cantillationLevel=”1.1.1” 159 We read one or more
accents in L differently than BHS. Often this notation indicates a typographical
error in BHS. strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”7069”
x-morph=”OSHM:HVqa” ”strong=”7069|�������� x-morph=”OSHM:HVqi1cs”
”strong=”m/854|���/������/�� x-morph=”OSHM:HR/R/Sp2ms” x-cantillationLevel=”1.1.0”
”strong=”b/4242|�������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”5927|��������
x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”1.0.0” ”strong=”l/3068|������/��
x-morph=”OSHM:HR/Np” ”strong=”430|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1.0” strong=”5930|������� a” x-morph=”OSHM:HNcfpa”
”strong=”2600|������� x-morph=”OSHM:HD” x-cantillationLevel=”1” ”strong=”c/7069|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1732|������� x-morph=”OSHM:HNp”
”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/1637”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�������/���|strong=”d/1241” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”b/3701|������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”8255|���������� x-morph=”OSHM:HNcmpa”
”strong=”2572|����������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0”�
25 ”strong=”c/1129|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”8033|�����
x-morph=”OSHM:HD” ”strong=”1732|������� x-morph=”OSHM:HNp” ”strong=”4196|�����������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” ”strong=”l/3068|������/���

158+ strong=”b/5869|�/�������/����/���/� a” x-morph=”OSHM:HR/Ncbdc/Sp3ms” x-
cantillationLevel=”1”
159c
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x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1” ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vhw3ms” strong=”5930|������� a” x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.0” ”strong=”c/8002|����������/�� x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”1” ”strong=”c/6279|���������/�� x-morph=”OSHM:HC/VNw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”l/776|������/�� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1”
”strong=”c/6113|���������/�� x-morph=”OSHM:HC/VNw3fs” ”strong=”d/4046|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”�


